
Capacitor fields and energy

Griffiths, Electrodynamics, fourth edition, problem 7.34: Charging a capacitor
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The changing ~E makes ~B. . . in fact, ε0
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makes ~B in exactly the same way that ~J makes ~B (see end
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Griffiths, Electrodynamics, fourth edition, problem 8.2: Energy in charging a capacitor
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The Poynting vector
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points everywhere inward, that is
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and has magnitude
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Check: (Use expression for divergence in cylindrical coordinates.)
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Rate of increase of energy within gap is
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Poynting vector surface integrated over edge of gap is
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